Grade Level: 1% (Easy)
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Korean Hill Song

Arranged by Mark Williams

INSTRUMENTATION

1 — Conductor Score
10 — Flute

2 — Oboe

2 — Bassoon

6 — 1st Bb Clarinet
6 — 2nd Bb Clarinet
1 — Eb Alto Clarinet
2 — Bb Bass Clarinet
2 — 1st Eb Alto
2 — 2nd Eb Alt
2 — BbTe
Eb

aritone B.C.

— Tuba
— Percussion (Snare Drum, Bass Drum,

Crash Cymbeals, Sus. Cymbal,
Tambourine, Temple Blocks, Triangle)
2 — Bells & Timpani
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Please note: Our band and orchestra music is now being collated by an automatic high-speed system.
The enclosed parts are now sorted by page count, rather than score order.



CONDUCTOR
Duration - 2:25

Flute
Oboe

Bb Clarinets 2

Eb Alto 1
Saxophones 2

Bb Trumpets 5
F Horn

Trombone

Baritone
Tuba

Percussion
(Snare Drum,

Bass Drum,

Crash Cymbals,

Sus. Cymbal,
Tambourine, Temple
Blocks, Triangle)

Bells &
Timpani
(Bb, F)

-

Andante (J = 80)

Korean Hill Song

Traditional
Arr. by Mark Williams
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